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Relação do aço

S1 S2 S5

3xS11 2xS18 3xS19

4xS23 2xS24 3xS33

AÇO
N DIAM

(mm)

QUANT C.UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 360 112 40320

2 5.0 360 30 10800

3 5.0 15
72

1080

4 5.0 60 123 7380

CA50 5 6.3
77

135 10395

6 6.3 14 80 1120

7
6.3

24
125 3000

8 6.3 51 120 6120

9 6.3
44

130 5720

10 6.3 36 100 3600

11 8.0 63 114 7182

12 8.0 22 144 3168

13 8.0 36 149 5364

14 8.0 36 109 3924

15 10.0 158 VAR VAR

16 10.0 10 75 750

17 10.0 6 VAR VAR

18 10.0 20 123 2460

19 10.0 48 148 7104

20 10.0 33 168 5544

21 10.0 33 128 4224

22 10.0 26 138 3588

23 10.0 20 158 3160

24
12.5

4
94 376

Resumo do aço

AÇO
DIAM

(mm)

C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

6.3

8.0

10.0

12.5

5.0

299.6

196.4

646.4

3.8

595.8

80.6

85.2

438.3

4

101

PESO TOTAL

(kg)

CA50

CA60

608.2

101

Volume de concreto (C-25) = 13.28 m³

Área de forma = 87.26 m²
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Relação do aço

S13

AÇO
N DIAM

(mm)

QUANT
C.UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 90 112 10080

2 5.0 90 30 2700

CA50 3 6.3 72 135 9720

4 8.0 72 114 8208

5 10.0 26 75 1950

6 10.0 32 VAR VAR

7 10.0 4 VAR VAR

8 12.5 2 94 188

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

6.3

8.0

10.0

12.5

5.0

97.2

82.1

101.4

1.9

127.8

26.2

35.6

68.8

2

21.7

PESO TOTAL

(kg)

CA50

CA60

132.5

21.7

Volume de concreto (C-25) = 2.78 m³

Área de forma = 18.48 m²
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